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Q1: (33pts)
Find a stable solution to the following game:

[

3 4
4 −1

]
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Q2: (33pts) Solve the following integer programming problem using branch
and bound.

maximise 2x1 + 3x2

subject to
x1 + 2x2 ≤ 2
3x1 + x2 ≤ 4

x1, x2 ≥ 0 and integer.
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Q3: (34pts) A student is preparing for four tests T1, T2, T3, T4 and only has
5 hours in which to study. The following table S gives the number of points
the student will get on Ti if he/she spends j hours studying for that test. Use
Dynamic Programming to find the strategy that maximises the students
points.

Hours T1 T2 T3 T4

0 50 50 50 50
1 60 65 60 70
2 75 70 70 80
3 80 80 70 80
4 90 85 70 80
5 95 90 70 85
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